22/03/18 — nomn? 1 X"1Tn 83-112 — 2 Tvin |nan
7272 VIYD [IAWNN TV NIn NIYY vI7Y ;jnann Jun 7' TR TN

1007 221y 100 Zyn ¥ > NITRUN D 7w 1y 71 20 :n7RY D 7pwun

:0'NaN NN N nwn L1

(1—cos(x))sin ()1()

limg/In(n) .a Iim(ex—x-arctan(x)) 2 lim _ X
N—so0 X—>0 x—0 Sin (7X)
2
X3 +1
.jz—dx NN QYN .N
X +5x+4
l+e”
J- dX 010NN XAN 77A01'NN DXN 1yipg .2
X
3

.e*+sin(x) =e™ nxNwNY? w' NINN9 NNd INYN X

f(X)=€e"+e 7 —cos(X) n'¥jpaen 7w mnamn 1N DK INYD A

XeR DY 2f(x)f'(X) >0 may f nxpao 'an 4
f(X)=0 D orpnn xe R 297 :m1pM9n/innin X

F(X)=0 norpnn x<0 D7 7x £(0)=0 oxwinin 2

d<a annnnNani, a,,, =2a, -1 naroan 99 T v mmamn mmToa v L5
N7V Navnm a; DN X

Jdima, nxnwn a2

n—ow

n

n
.an = Zﬁ NTOoN 7122 DX wWN X
—'n“+kn+Kk

f (X) =cos(x) nw¥jpaon Yw Nizpn o' Ty Cos[%j 2w ana h axawn D InDIn A

(am> ,jawnna wimrw 177) |h| Sé D nntpEn 2 YTon



